20173103 Machine Learning
Kahoot Quiz
19-Aug-2024, 20-Sept-2024
Description: At the end of every unit, Kahoot quiz was created so that students could revise their
concepts. The MCQs had tricky choices.
Objective: The objective of quiz (pedagogic technique) was to encourage students to revise the ML

concepts.

Impact: Students enjoyed solving MCQs. Many students could score full marks, however, the ones who
are fast to respond are considered as toppers.
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All (26) Need help (6) Didn't finish (10) Search
Nickname Rank s Correct answers s Unanswered v Final score »
rowz 1 O 100% 4577
Bella 2 O 100% 4247
Tattoo 3 O 100% 4229
batman 4 O 100% 4145
Row_2 5 O 100% 3753
Yep 6 O 80% 3719
Rucha 7 O 80% 1 2664
Binod 8 O 80% 3619
Pratiksha 9 O 80% 3596
Suvarna 10 O 80% 1 3565
Didn't finish (10) ®
‘.. Players 26
SMG 5
e Questions 5
Hii 5
o Time 7 min

ugro 5



Soutof 5
4247
S5outof5

Runners-up

4 batman 5 Row_2

Nickname v Rank v Correct answers v Unanswered v Final score v
Disha 1 O s - 3541
Apurva 2 O 60% _ 2672
Shobhana 3 O 60% — 2626
Maitreyee 4 O 60% — 2615
Maya 5 O 60% _ 2269
Rult 6 ( 40% — 1875
Arya 7 c) 40% _ 1835
Pratiksha 8 ( 40% 1 1724
Yogita 9 () 40% _ 1691
Kiran 10 ( 40% 1 1509

Didn't finish (4) ®
2 players 20

Pratiksha 1

© Questions 5

Kiran 1

Time 4 min
O

Mamata 1



All (5) Difficult questions (4)

Question v

4 Perceptronis a

5  Learning rate n can be

2 In SVM, we objective is to have

1 If data is not linearly separable, then it can be classified using

4  Perceptronisa
u Binary classifier
n Multi-class classifier
O Soft margin classifier
D None of the above
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Runners-up

4 Maitreyee 5 Maya

All (5) Difficult questions (1)

Question v

1

Searching and sorting should be solved using

Chandrayan uses Machine Learning

Supervised learning needs .... dataset

.. learning uses exploitation and exploration

For processing tweets, you need to
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